Mounting material for 19" components, M5, 100
pieces

Product No. 26.99.0001 \/\
Manufacturer VALUE alue
Manufacturer No. 26.99.0001

EAN (single piece) 7630049612921

19" mounting material, 100 pieces per set (screw, washer, nut)

* Use a grounding cage nut and a nomel washer at at least one fixing point for standard-
compliant grounding

* For attaching front panels, distribution panels or other built-in components to frames,
angle profiles or depth struts with rectangular perforations

Scope of delivery

100x pan-head screw, M5 x 16, galvanized
100x plastic disc, black
100x cage nut M5, galvanized

Technical specifications

Manufacturer VALUE

Product group 19"-/10"-Additional accessories

Product type Mounting material

Colour various

Scope of delivery Screw M5x16 + washer + M5 cage nut, 100 pieces /bag
Weight 724.89 ¢

Height of packaging 50 mm

(single piece)



Width of packaging 100 mm
(single piece)

Depth of packaging 100 mm
(single piece)

Package weight (single 0.4 kg
piece)



